

Properties of Convergence for a Class of Generalized q -Gamma Operators

Qing-Bo Cai*

School of Mathematics and Computer Sciences, Quanzhou Normal University, Quanzhou 362000, Fujian, P.R. China

Received 20 July 2014; Accepted 4 December 2014

Abstract. In this paper, a generalization of q -Gamma operators based on the concept of q -integer is introduced. We investigate the moments and central moments of the operators by computation, obtain a local approximation theorem and get the pointwise convergence rate theorem and also obtain a weighted approximation theorem. Finally, a Voronovskaya type asymptotic formula was given.

AMS subject classifications: 41A10, 41A25, 41A36

Chinese Library Classifications: O174.4

Key words: q -integer, q -Gamma operators, weighted approximation, modulus of continuity.

1 Introduction

It is well known that the Gamma operators are given by

$$G_n(f;x) = \frac{1}{x^n \Gamma(n)} \int_0^\infty f(t/n) t^{n-1} e^{-t/x} dt, \quad x \in [0, \infty). \quad (1.1)$$

In 2005, Zeng [9] obtained the approximation properties of G_n defined above, supposing f satisfies exponential growth condition. He studied the approximation properties to the locally bounded functions and the absolutely continuous functions and obtained some good properties.

Since the application of q -calculus in approximation theory is an active field, many researchers have performed studies in it, we mention some of them [3, 5–8], these motivate us to introduce the q analogue of this kind of Gamma operators.

*Corresponding author. *Email address:* qbcai@126.com (Q. -B. Cai)

Firstly, we recall some concepts of q -calculus. All of the results can be found in [4]. For any fixed real number $0 < q \leq 1$ and each nonnegative integer k , we denote q -integers by $[k]_q$, where

$$[k]_q = \begin{cases} \frac{1-q^k}{1-q}, & q \neq 1; \\ k, & q = 1. \end{cases}$$

Also q -factorial and q -binomial coefficients are defined as follows:

$$[k]_q! = \begin{cases} [k]_q [k-1]_q \dots [1]_q, & k = 1, 2, \dots; \\ 1, & k = 0, \end{cases}$$

and

$$\begin{bmatrix} n \\ k \end{bmatrix}_q = \frac{[n]_q!}{[k]_q! [n-k]_q!}, \quad (n \geq k \geq 0).$$

The q -improper integrals are defined as

$$\int_0^{\infty/A} f(x) d_q x = (1-q) \sum_{-\infty}^{\infty} f\left(\frac{q^n}{A}\right) \frac{q^n}{A}, \quad A > 0, \tag{1.2}$$

provided the sums converge absolutely.

The q -exponential function $E_q(x)$ is given as

$$E_q(x) = \sum_{k=0}^{\infty} q^{k(k-1)/2} \frac{x^k}{[k]_q!} = (1 + (1-q)x)_q^{\infty}, \quad |q| < 1,$$

where $(1-x)_q^{\infty} = \prod_{j=0}^{\infty} (1-q^j x)$.

The q -Gamma integral is defined as

$$\Gamma_q(t) = \int_0^{\infty/A} x^{t-1} E_q(-qx) d_q x, \quad t > 0, \tag{1.3}$$

which satisfies the following functional equations: $\Gamma_q(t+1) = [t]_q \Gamma_q(t)$, $\Gamma_q(1) = 1$.

For $f \in C[0, \infty)$, $q \in (0, 1)$ and $n \in \mathbb{N}$, we introduce a generalization of q -Gamma operators $G_{n,q}(f, x)$ as

$$G_{n,q}(f; x) = \frac{1}{x^n \Gamma_q(n)} \int_0^{\infty/A} f\left(\frac{t}{[n]_q}\right) t^{n-1} E_q\left(-\frac{qt}{x}\right) d_q t. \tag{1.4}$$

Obviously, $G_{n,q}(f; x)$ are positive linear operators. It is observed that for $q \rightarrow 1^-$, $G_{n,1^-}(f; x)$ become the Gamma operators defined in (1.1).

2 Some preliminary results

In this section, we give the following lemmas, which are need to prove our theorems:

Lemma 2.1. For $q \in (0,1)$, $x \in [0,\infty)$ and $k=0,1,\dots$, we have

$$G_{n,q}(t^k;x) = \frac{[n+k-1]_q!}{[n-1]_q! [n]_q^k} x^k. \tag{2.1}$$

Proof. From (1.3) and (1.4), we have

$$\begin{aligned} G_{n,q}(t^k;x) &= \frac{1}{x^n \Gamma_q(n)} \int_0^{\infty/A} \left(\frac{t}{[n]_q}\right)^k t^{n-1} E_q\left(-\frac{qt}{x}\right) d_q t \\ &= \frac{x^k}{[n]_q^k \Gamma_q(n)} \int_0^{\infty/A} \left(\frac{t}{x}\right)^{n+k-1} E_q\left(-\frac{qt}{x}\right) d_q \left(\frac{t}{x}\right) \\ &= \frac{\Gamma_q(n+k) x^k}{[n]_q^k [n-1]_q!} = \frac{[n+k-1]_q!}{[n-1]_q! [n]_q^k} x^k. \end{aligned}$$

Lemma 2.1 is proved. □

Lemma 2.2. For $q \in (0,1)$, $x \in [0,\infty)$, we have

$$G_{n,q}(1;x) = 1, \quad G_{n,q}(t;x) = x, \quad G_{n,q}(t^2;x) = \left(1 + \frac{q^n}{[n]_q}\right) x^2, \tag{2.2}$$

$$G_{n,q}(t^3;x) = \left[1 + \frac{q^n(2+q)}{[n]_q} + \frac{[2]_q q^{2n}}{[n]_q^2}\right] x^3, \tag{2.3}$$

$$G_{n,q}(t^4;x) = \left[1 + \frac{(1+[2]_q+[3]_q)q^n}{[n]_q} + \frac{([2]_q+[3]_q+[2]_q[3]_q)q^{2n}}{[n]_q^2} + \frac{[2]_q[3]_q q^{3n}}{[n]_q^3}\right] x^4. \tag{2.4}$$

Proof. From Lemma 2.1, we get (2.2) easily. Next,

$$\begin{aligned} G_{n,q}(t^3;x) &= \frac{[n+2]_q!}{[n-1]_q! [n]_q^3} x^3 = \frac{[n+2]_q [n+1]_q}{[n]_q^2} x^3 = \frac{([n]_q + [2]_q q^n) ([n]_q + q^n)}{[n]_q^2} x^3 \\ &= \frac{[n]_q^2 + ([2]_q + 1) q^n [n]_q + [2]_q q^{2n}}{[n]_q^2} x^3 = \left[1 + \frac{q^n(2+q)}{[n]_q} + \frac{[2]_q q^{2n}}{[n]_q^2}\right] x^3. \end{aligned}$$

Finally,

$$\begin{aligned} G_{n,q}(t^4;x) &= \frac{[n+3]_q!}{[n-1]_q! [n]_q^4} x^4 = \frac{[n+3]_q [n+2]_q [n+1]_q}{[n]_q^3} x^4 \\ &= \frac{([n]_q + [3]_q q^n) ([n]_q + [2]_q q^n) ([n]_q + q^n)}{[n]_q^3} x^4 \\ &= \left[1 + \frac{(1+[2]_q+[3]_q)q^n}{[n]_q} + \frac{([2]_q+[3]_q+[2]_q[3]_q)q^{2n}}{[n]_q^2} + \frac{[2]_q[3]_q q^{3n}}{[n]_q^3}\right] x^4. \end{aligned}$$

Lemma 2.2 is proved. \square

Remark 2.1. Let $n \in \mathbb{N}$ and $x \in [0, \infty)$, then for every $q \in (0, 1)$, by Lemma 2.2, we have

$$G_{n,q}(1+t;x) = 1+x. \quad (2.5)$$

Lemma 2.3. For every $q \in (0, 1)$ and $x \in [0, \infty)$, we have

$$G_{n,q}((t-x)^2;x) = \frac{q^n}{[n]_q} x^2, \quad (2.6)$$

$$G_{n,q}((t-x)^4;x) = \frac{q^n(1-q)^2}{[n]_q} x^4 + \frac{q^{2n}(q^3+3q^2-1)}{[n]_q^2} x^4 + \frac{q^{3n}[2]_q[3]_q}{[n]_q^3} x^4. \quad (2.7)$$

Proof. Since $G_{n,q}((t-x)^2;x) = G_{n,q}(t^2;x) - 2xG_{n,q}(t;x) + x^2$ and $G_{n,q}((t-x)^4;x) = G_{n,q}(t^4;x) - 4xG_{n,q}(t^3;x) + 6x^2G_{n,q}(t^2;x) - 4x^3G_{n,q}(t;x) + x^4$, and from Lemma 2.2, We get Lemma 2.3 easily. \square

Remark 2.2. Let the sequence $q = \{q_n\}$ satisfies $q_n \in (0, 1)$ and $q_n \rightarrow 1$ as $n \rightarrow \infty$, then for any fixed $x \in [0, \infty)$, by Lemma 2.3, we have

$$\lim_{n \rightarrow \infty} L_{n,q_n}((t-x)^2;x) = 0, \quad \lim_{n \rightarrow \infty} [n]_q \sqrt{L_{n,q_n}((t-x)^4;x)} = O(1). \quad (2.8)$$

3 Local approximation

In this section, we establish direct and local approximation theorems in connection with the operators $L_{n,q}(f;x)$.

We denote the space of all real valued continuous bounded functions f defined on the interval $[0, \infty)$ by $C_B[0, \infty)$. The norm $\|\cdot\|$ on the space $C_B[0, \infty)$ is given by $\|f\| = \sup\{|f(x)| : x \in [0, \infty)\}$.

Further let us consider Peetre's K -functional:

$$K_2(f;\delta) = \inf_{g \in W^2} \{ \|f-g\| + \delta \|g''\| \},$$

where $\delta > 0$ and $W^2 = \{g \in C_B[0, \infty) : g', g'' \in C_B[0, \infty)\}$.

For $f \in C_B[0, \infty)$, the modulus of continuity of second order is defined by

$$\omega_2(f;\delta) = \sup_{0 < h \leq \delta} \sup_{x \in [0, \infty)} |f(x+2h) - 2f(x+h) + f(x)|,$$

by [1, p.177], there exists an absolute constant $C > 0$ such that

$$K_2(f;\delta) \leq C\omega_2(f;\sqrt{\delta}), \quad \delta > 0. \quad (3.1)$$

Our first result is a direct local approximation theorem for the operators $G_{n,q}(f;x)$.

Theorem 3.1. For $q \in (0,1)$, $x \in [0,\infty)$, $n \in \mathbb{N}$ and $f \in C_B[0,\infty)$, we have

$$|L_{n,q}(f,x) - f(x)| \leq C\omega_2 \left(f; \frac{q^{n/2}}{\sqrt{[n]_q}} x \right), \quad (3.2)$$

where C is a positive constant.

Proof. Let $g \in W^2$, by Taylor's expansion, we have

$$g(t) = g(x) + g'(x)(t-x) + \int_x^t (t-u)g''(u)du, \quad x, t \in [0,\infty).$$

Using (2.5), we get

$$G_{n,q}(g;x) = g(x) + G_{n,q} \left(\int_x^t (t-u)g''(u)du; x \right).$$

Hence, we have

$$\begin{aligned} |G_{n,q}(g;x) - g(x)| &= \left| G_{n,q} \left(\int_x^t (t-u)g''(u)du; x \right) \right| \leq G_{n,q} \left(\left| \int_x^t (t-u)|g''(u)|du \right|; x \right) \\ &\leq \frac{q^n}{[n]_q} x^2 \|g''\|. \end{aligned} \quad (3.3)$$

On the other hand, using Lemma 2.2, we have

$$|G_{n,q}(f;x)| \leq \frac{1}{x^n \Gamma_q(n)} \int_0^{\infty/A} \left| f \left(\frac{t}{[n]_q} \right) \right| t^{n-1} E_q \left(-\frac{qt}{x} \right) d_q t \leq \|f\|. \quad (3.4)$$

Now (3.3) and (3.4) imply

$$\begin{aligned} |G_{n,q}(f;x) - f(x)| &\leq |G_{n,q}(f-g;x) - (f-g)(x)| + |G_{n,q}(g;x) - g(x)| \\ &\leq 2\|f-g\| + \frac{q^n}{[n]_q} x^2 \|g''\|. \end{aligned}$$

Hence taking infimum on the right hand side over all $g \in W^2$, we get

$$|G_{n,q}(f;x) - f(x)| \leq 2K_2 \left(f; \frac{q^n}{[n]_q} x^2 \right).$$

By (3.1), for every $q \in (0,1)$, we have

$$|L_{n,q}(f,x) - f(x)| \leq C\omega_2 \left(f; \frac{q^{n/2}}{\sqrt{[n]_q}} x \right).$$

This completes the proof of Theorem 3.1. □

4 Rate of convergence

Let $B_{x^2}[0, \infty)$ be the set of all functions f defined on $[0, \infty)$, satisfying the condition $|f(x)| \leq M_f(1+x^2)$, where M_f is a constant depending only on f . We denote the subspace of all continuous functions belonging to $B_{x^2}[0, \infty)$ by $C_{x^2}[0, \infty)$. Also, let $C_{x^2}^*[0, \infty)$ be the subspace of all functions $f \in C_{x^2}[0, \infty)$, for which $\lim_{x \rightarrow \infty} \frac{f(x)}{1+x^2}$ is finite. The norm on $C_{x^2}^*[0, \infty)$ is $\|f\|_{x^2} = \sup_{x \in [0, \infty)} \frac{|f(x)|}{1+x^2}$. We denote the usual modulus of continuity of f on the closed interval $[0, a]$, ($a > 0$) by

$$\omega_a(f, \delta) = \sup_{|t-x| \leq \delta} \sup_{x, t \in [0, a]} |f(t) - f(x)|.$$

Obviously, for the function $f \in C_{x^2}[0, \infty)$, the modulus of continuity $\omega_a(f, \delta)$ tends to zero.

Theorem 4.1. *Let $f \in C_{x^2}[0, \infty)$, $q \in (0, 1)$ and $\omega_{a+1}(f, \delta)$ be the modulus of continuity on the finite interval $[0, a+1] \subset [0, \infty)$, where $a > 0$. Then we have*

$$\|G_{n,q}(f) - f\|_{C[0,a]} \leq 4M_f(1+a^2) \frac{q^n a^2}{[n]_q} + 2\omega_{a+1}\left(f, \frac{q^{n/2}a}{\sqrt{[n]_q}}\right). \quad (4.1)$$

Proof. For $x \in [0, a]$ and $t > a+1$, we have $t-x \geq t-a > 1$. Hence $(t-x)^2 > 1$. Thus $2+3x^2+2(t-x)^2 \leq (2+3x^2)(t-x)^2+2(t-x)^2 = (4+3x^2)(t-x)^2 \leq (4+3a^2)(t-x)^2 \leq 4(1+a^2)(t-x)^2$. Hence, we obtain

$$|f(t) - f(x)| \leq 4M_f(1+a^2)(t-x)^2. \quad (4.2)$$

For $x \in [0, a]$ and $t \leq a+1$, we have

$$|f(t) - f(x)| \leq \omega_{a+1}(f; |t-x|) \leq \left(1 + \frac{|t-x|}{\delta}\right) \omega_{a+1}(f; \delta), \quad \delta > 0. \quad (4.3)$$

From (4.2) and (4.3), we get

$$|f(t) - f(x)| \leq 4M_f(1+a^2)(t-x)^2 + \left(1 + \frac{|t-x|}{\delta}\right) \omega_{a+1}(f; \delta). \quad (4.4)$$

For $x \in [0, a]$ and $t \geq 0$, by Schwarz's inequality and Lemma 2.3, we have

$$\begin{aligned} & |G_{n,q}(f; x) - f(x)| \\ & \leq G_{n,q}(|f(t) - f(x)|; x) \\ & \leq 4M_f(1+a^2)G_{n,q}((t-x)^2; x) + \omega_{a+1}(f; \delta) \left[1 + \frac{1}{\delta} \sqrt{G_{n,q}((t-x)^2; x)}\right] \\ & \leq 4M_f(1+a^2) \frac{q^n a^2}{[n]_q} + \omega_{a+1}(f, \delta) \left(1 + \frac{1}{\delta} \frac{q^{n/2}a}{\sqrt{[n]_q}}\right), \end{aligned}$$

by taking $\delta = \frac{q^{n/2}a}{\sqrt{[n]_q}}$, we get the assertion of Theorem 4.1. \square

5 Weighted approximation and Voronovskaya type asymptotic formula

Now we will discuss the weighted approximation theorems.

Theorem 5.1. *Let the sequence $q = \{q_n\}$ satisfies $0 < q_n < 1$ and $q_n \rightarrow 1$ as $n \rightarrow \infty$, for $f \in C_{x^2}^*[0, \infty)$, we have*

$$\lim_{n \rightarrow \infty} \|G_{n,q_n}(f) - f\|_{x^2} = 0. \tag{5.1}$$

Proof. By using the Korovkin theorem in [2], we see that it is sufficient to verify the following three conditions

$$\lim_{n \rightarrow \infty} \|G_{n,q_n}(t^v; x) - x^v\|_{x^2}, \quad v = 0, 1, 2. \tag{5.2}$$

Since $G_{n,q_n}(1; x) = 1$ and $G_{n,q_n}(t; x) = x$, (5.2) holds true for $v = 0$ and $v = 1$. Finally, for $v = 2$, we have

$$\|G_{n,q_n}(t^2; x) - x^2\|_{x^2} = \sup_{x \in [0, \infty)} \frac{|G_{n,q_n}(t^2; x) - x^2|}{1 + x^2} \leq \frac{q^n}{[n]_q} \sup_{x \in [0, \infty)} \frac{x^2}{1 + x^2} \leq \frac{q^n}{[n]_q},$$

since $\lim_{n \rightarrow \infty} q_n = 1$, we get $\lim_{n \rightarrow \infty} \frac{q^n}{[n]_q} = 0$, so the third condition of (5.2) holds for $v = 2$ as $n \rightarrow \infty$, then the proof of Theorem 5.1 is completed. □

Finally, we give a Voronovskaya type asymptotic formula for $G_{n,q}(f; x)$ by means of the second and fourth central moments.

Theorem 5.2. *Let the sequence $q = \{q_n\}$ satisfies $0 < q_n < 1$ and $q_n \rightarrow 1$ as $n \rightarrow \infty$. Then for $f \in C_{x^2}^2[0, \infty)$ and fix $x \in [0, \infty)$, the following equality holds*

$$\lim_{n \rightarrow \infty} [n]_q (G_{n,q}(f; x) - f(x)) = \frac{f''(x)}{2} x^2. \tag{5.3}$$

Proof. Let $x \in [0, \infty)$ be fixed. By the Taylor formula, we may write

$$f(t) = f(x) + f'(x)(t - x) + \frac{1}{2} f''(x)(t - x)^2 + r(t; x)(t - x)^2, \tag{5.4}$$

where $r(t; x)$ is the Peano form of the remainder, $r(t; x) \in C_{x^2}[0, \infty)$, using L'Hopital's rule, we have

$$\begin{aligned} \lim_{t \rightarrow x} r(t; x) &= \lim_{t \rightarrow x} \frac{f(t) - f(x) - f'(x)(t - x) - \frac{1}{2} f''(x)(t - x)^2}{(t - x)^2} \\ &= \lim_{t \rightarrow x} \frac{f'(t) - f'(x) - f''(x)(t - x)}{2(t - x)} = \lim_{t \rightarrow x} \frac{f''(t) - f''(x)}{2} = 0. \end{aligned}$$

Applying $G_{n,q}(f;x)$ to (5.4), we obtain

$$[n]_q (G_{n,q}(f;x) - f(x)) = \frac{f''(x)}{2} [n]_q G_{n,q}((t-x)^2;x) + [n]_q G_{n,q}(r(t;x)(t-x)^2;x).$$

By the Cauchy-Schwarz inequality, we have

$$G_{n,q}(r(t;x)(t-x)^2;x) \leq \sqrt{G_{n,q}(r^2(t;x);x)} \sqrt{G_{n,q}((t-x)^4;x)}. \quad (5.5)$$

Since $r^2(x;x) = 0$, then it follows from Theorem 5.1 that

$$\lim_{n \rightarrow \infty} K_{n,q}(r^2(t;x);x) = r^2(x;x) = 0. \quad (5.6)$$

Now, from (5.5), (5.6) and (2.8), we get $\lim_{n \rightarrow \infty} [n]_q G_{n,q}(r(t;x)(t-x)^2;x) = 0$. Since

$$\lim_{n \rightarrow \infty} [n]_q K_{n,q}((t-x)^2;x) = \lim_{n \rightarrow \infty} q^n x^2 = x^2,$$

we get the desired result. \square

Acknowledgments

This work is supported by the Educational Office of Fujian Province of China (No. JA13269), the Startup Project of Doctor Scientific Research of Quanzhou Normal University, Fujian Provincial Key Laboratory of Data Intensive Computing and Key Laboratory of Intelligent Computing and Information Processing, Fujian Province University.

References

- [1] R. A. DeVore and G. G. Lorentz. Constructive approximation. Springer, Berlin, 1993.
- [2] A. D. Gadjiev. Theorems of the type of P. P. Korovkin type theorems. Math. Zametki, 20(5): 781-786, 1976, (English Translation, Math. Notes 20(5-6): 996-998, 1976).
- [3] V. Gupta and A. Aral. Convergence of the q analogue of Szász-Beta operators. Appl. Math. Comput., 216: 374-380, 2010.
- [4] V. G. Kac and P. Cheung. Quantum calculus. Universitext, Springer-Verlag, New York, 2002.
- [5] N. Mahmudov and V. Gupta. On certain q -analogue of Szász Kantorovich operators. J. Appl. Math. Comput, 10.1007/s12190-010-0441-4, 2010.
- [6] G. M. Phillips. Bernstein polynomials based on the q -integers. Ann. Numer. Math., 4: 511-518, 1997.
- [7] S. Ostrovska. q -Bernstein polynomials and their iterates. J. Approx. Theory, 123: 232-255, 2003.
- [8] H. Wang and F. Meng. The rate of convergence of q -Bernstein polynomials for $0 < q < 1$. J. Approx. Theory, 136(2): 151-158, 2005.
- [9] X. M. Zeng. Approximation properties of Gamma operators. J. Math. Anal. Appl., 311: 389-401, 2005.